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Kerala State Co-operative Service Examination Board

Provisional Answerkey For the Post of Data Entry Operator

Notification No : 16/2023 Exam Date : 07-04-2024

1)US bought Alaska from which of the following country?

(A)Iceland (B)Canada (C)Russia (D)Cuba

Correct Answer : (C)

2)The stars in the American flag indicate the number of _____.

(A)Districts (B)States (C)Officers (D)Colonies

Correct Answer : (B)

3)As per Greek mythology who stole fire from Olympus and gave it to humans?

(A)Apollo (B)Icharus (C)Prometheus (D)Artemis

Correct Answer : (C)

4)Nicholas II is considered as the _______ Tsar of Russia.

(A)First (B)Second (C)Medieval (D)Last

Correct Answer : (D)

5)Which dynasty's rule was considered as golden period in South India?

(A)Pallava (B)Pandiya (C)Chola (D)Chera

Correct Answer : (C)

6)______ is known as Napoleon of South India. 

(A)Rajendra Chola (B)Rajendra Chola II (C)Aditya Chola (D)Sundara Pandiyan

Correct Answer : (A)
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7)______ is the first English newspaper in India.

(A)Calcutta Gazette (B)Bengal Gazette (C)Bombay Herald (D)Times of India

Correct Answer : (B)

8)The districts in India through which the river Indus flows:

(A)Leh, Kargil (B)Kathua, Poonch (C)Rajouri, Pulwama (D)Kupwara, Baramulla

Correct Answer : (A)

9)"Chandipur-on-sea" is located in _____.

(A)Andhra Pradesh (B)Odisha (C)Tamil Nadu (D)West Bengal

Correct Answer : (B)

10)The coast of Tamil Nadu is also known as:

(A)Coromandel Coast (B)Malabar Coast (C)Utkal Coast (D)Konkan Coast

Correct Answer : (A)

11)The first census of India was conducted after independence in the year:

(A)1950 (B)1960 (C)1951 (D)1961

Correct Answer : (C)

12)Lakshadweep has a total of ______ islands.

(A)30 (B)32 (C)34 (D)36

Correct Answer : (D)

13)Indian constitution is the largest in the world. Which country is the second largest?

(A)Australia (B)UK (C)Nigeria (D)Spain

Correct Answer : (C)
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14)By which amendment of the constitution of India elementary education was made a
fundamental right? 

(A)86th (B)101st (C)96th (D)75th

Correct Answer : (A)

15)Samvidhan Divas is celebrated every year on:

(A)27 January (B)15 August (C)31 March (D)26 November

Correct Answer : (D)

16)Minimum age to contest for President of India:

(A)30 (B)35 (C)40 (D)50

Correct Answer : (B)

17)Fist five-year plan was implemented during the period ______.

(A)1950-55 (B)1947-52 (C)1960-65 (D)1951-56

Correct Answer : (D)

18)Which is India's first interplanetary space mission?

(A)Mangalyaan (B)Chandrayaan-I (C)Gaganyaan (D)SARAL

Correct Answer : (A)

19)What is A in IRDA?

(A)Arbitory (B)Authority (C)Advisory (D)Admission

Correct Answer : (B)

20)Who is known as the father of Artificial Intelligence?

(A)Alan Turing (B)Eugin Paul Curtis (C)James. T. Russel (D)John McCarthy

Correct Answer : (D)
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21)Which color is associated with revolution of fertilizers? 

(A)Pink (B)Yellow (C)Grey (D)Black

Correct Answer : (C)

22)A farmer having less than one hectare is called as:

(A)Marginal farmer (B)Medium farmer (C)Small farmer (D)Big farmer

Correct Answer : (A)

23)Golden Revolution is related to:

(A)Agriculture (B)Horticulture and
Floriculture (C)Horticulture and Honey (D)Floriculture

Correct Answer : (C)

24)National Waterways 2 is over the river:

(A)Ganga (B)Yamuna (C)Sarayu (D)Brahmaputra

Correct Answer : (D)

25)India's Population has shown negative growth during the period:

(A)1911-21 (B)1931-41 (C)1921-31 (D)1941-51

Correct Answer : (A)

26)______ has the highest population of Indian ethnic group of black African descent called Siddi.

(A)Telangana (B)Karnataka (C)Maharashtra (D)Goa

Correct Answer : (B)

27)The organ in humans which produces urea is _____.

(A)Gall bladder (B)Liver (C)Pancreas (D)Kidney

Correct Answer : (B)
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28)Theory of Relativity was proposed by:

(A)Albert Einstein (B)Isaac Newton (C)Galileo Galilee (D)Robert Owen

Correct Answer : (A)

29)_______ mosquito is responsible for transmitting the parasite causing filariasis:

(A)Anopheles (B)Culex (C)Aedes (D)Tse Tse

Correct Answer : (B)

30)The Government may, by notification in the Gazette, frame a scheme to be called ______ for
the purpose of providing loans for infrastructure development to societies.

(A)Member
Amenity Scheme

(B)Borrowings
Development Scheme

(C)Consortium Lending
Scheme

(D)Asset
Development
Scheme

Correct Answer : (C)

31)How many digits are there in IFSC code?

(A)15 (B)13 (C)9 (D)11

Correct Answer : (D)

32)What is the full form of BHIM?

(A)Bharat Initiative
for Money

(B)Bharat Interface
for Money

(C)Bharat Interface for
Management

(D)Bharat Harmony
Initiative for Money

Correct Answer : (B)

33)A general body meeting of a society shall be held within a period of _____ close to the
financial year.

(A)One month (B)Ninety days (C)Three months (D)Six months

Correct Answer : (D)

34)Which of the following country is not in Scandinavia?

(A)Denmark (B)Norway (C)Poland (D)Sweden

Correct Answer : (C)
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35)Smallest country in the world:

(A)Monaco (B)Vatican City (C)Nauru (D)Maldives

Correct Answer : (B)

36)Which of the following port is called "The Pearl of the Black Sea"?

(A)Odessa (B)Burgas (C)Varna (D)Constanta

Correct Answer : (A)

37)Muscat is the capital of ____ .

(A)UAE (B)Saudi Arabia (C)Yemen (D)Oman

Correct Answer : (D)

38)Comoros is in _______ continent.

(A)Asia (B)Africa (C)Europe (D)South America

Correct Answer : (B)

39)Strait between America and Cuba:

(A)Florida (B)Bering (C)Gibraltar (D)Malacca

Correct Answer : (A)

40)Nicosia is the capital of:

(A)Vanuatu (B)Cyprus (C)Mexico (D)Nicaragua

Correct Answer : (B)

41)Ringgit is the currency of:

(A)Vietnam (B)Indonesia (C)Malaysia (D)Singapore

Correct Answer : (C)
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42)Who is the new President of World Bank? 

(A)Jim Yong Kim (B)Ajay Banga (C)David Malpass (D)Robert Zoellick

Correct Answer : (B)

43)"Ikebana" is the Japanese art of ______.

(A)Flower arrangement (B)Dress designing (C)Miniature tree farming (D)Paper craft

Correct Answer : (A)

44)Who received the Nobel Prize for Peace in 2023? 

(A)Ales Bialiatski (B)Narges Mohammadi (C)Julian Assange (D)Abiy Ahmed Ali

Correct Answer : (B)

45)The Institute which calculates the details of Unemployment in India.

(A)National Sample
Survey Organisation

(B)Central
Statistical
Institute

(C)Institute of
Mangement in
Government

(D)Institute for Social
and Economic
change

Correct Answer : (A)

46)Best Malayalam Film of the 69th National Film awards:

(A)Home (B)Minnal Murali (C)Churuli (D)The Great Indian Kitchen

Correct Answer : (A)

47)Kalaimamani awards are given by:

(A)Karnataka (B)Tamil Nadu (C)Andhra Pradesh (D)Odissa

Correct Answer : (B)

48)Who is the author of ''Freedom from fear"?

(A)Aung San Suukyi (B)Arundhati Roy (C)Tori Morrison (D)Malala Yousafzai

Correct Answer : (A)
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49)Who created Sherlock Holmes?

(A)Tom Jackman (B)Watson (C)Arthur Conan Doyle (D)Silverster Stallone

Correct Answer : (C)

50)P.J. Antony won the National Film award for Best actor for his performance in which film?

(A)Swayamvaram (B)Nirmalayam (C)Utharayanam (D)Neelakkuyil

Correct Answer : (B)

51)Which country won the first-ever soccer World Cup in 1930?

(A)Paraguay (B)Brazil (C)Argentina (D)Uruguay

Correct Answer : (D)

52)______ was the first gymnast to score a perfect 10 score.

(A)Larisa Latynia (B)Svetlana Khorkina (C)Simone Biles (D)Nadia Comaneci

Correct Answer : (D)

53)Steven Spielberg won his first Oscar for the Best Director for the film:

(A)Jurassic Park (B)Star Wars (C)Schindler's List (D)Avatar

Correct Answer : (C)

54)The current record holder for most hundreds in ODI cricket:

(A)Rohit Sharma (B)Virat Kohli (C)Sachin Tendulkar (D)Ricky Ponting

Correct Answer : (B)

55)Which of the following sport is the term "cox" associated with?

(A)Billiards (B)Boat Racing (C)Tennis (D)Archery

Correct Answer : (B)
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56)Which women cricketer was the first to score 10,000 runs in International Cricket?

(A)Charlotte Edwards (B)Mithali Raj (C)Anjum Chopra (D)Ellyse Perry

Correct Answer : (A)

57)_______ Governor has approved a bill providing 30% horizontal reservation for domiciled
women citizens of the state in public services and posts:

(A)Uttar Pradesh (B)Uttarakhand (C)Chhattisgarh (D)Jharkhand

Correct Answer : (B)

58)____ has become first fully digital state in India.

(A)Kerala (B)Karnataka (C)Tamil Nadu (D)Telangana

Correct Answer : (A)

59)A 122-foot-tall statute of a polo player astride a Pony was unveiled in ______ .

(A)Karnataka (B)Mizoram (C)Assam (D)Manipur

Correct Answer : (D)

60)_____ is the Cooperation Minister of Kerala?

(A)Sri. V. Sivan
Kutty

(B)Sri. V. N.
Vasavan

(C)Sri. Kadannappally
Ramachandran

(D)Sri. Saji
Cherian

Correct Answer : (B)

61)In MS Office the function key F12 opens a:

(A)Save As dialog box (B)Open dialog box (C)Save dialog box (D)Close dialog box 

Correct Answer : (A)

62)A word processor would most likely be used to:

(A)Keep an account
of money spent

(B)Do a computer
search in media centre

(C)Maintain an
inventory

(D)Type a
biography

Correct Answer : (D)
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63)______ printer is the cheapest in terms of price and operating cost.

(A)Inkjet (B)Laser (C)Thermal (D)Dot matrix

Correct Answer : (D)

64)Touch screen is an:

(A)Input Device (B)Output Device (C)Both A and B (D)None of these

Correct Answer : (C)

65)Which of the following is not available on the Ruler of MS word screen?

(A)Tap Stop box (B)Left indent (C)Right indent (D)Center indent

Correct Answer : (D)

66)The cell reference for cell range of G2 to M12 is:

(A)G2:M12 (B)G2.M12 (C)G2-M12 (D)G2;M12

Correct Answer : (A)

67)The spelling tool is placed in ___ toolbar.

(A)Standard (B)Formatting (C)Drawing (D)Reviewing

Correct Answer : (A)

68)The first computer made available for commercial use was:

(A)ENAIC (B)EDSAC (C)MARK-I (D)UNIVAC

Correct Answer : (D)

69)The selected design template can be applied:

(A)To all the new presentation
you create

(B)To current slide
only

(C)To all the
slides

(D)All of the
above

Correct Answer : (D)
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70)The function used to enter current time in a worksheet cell is:

(A)Today (B)Now (C)Time (D)Current time

Correct Answer : (B)

71)What feature is used to apply motion effects to different objects of a slide?

(A)Slide Transition (B)Slide Design (C)Animated Objects (D)Animation Scheme

Correct Answer : (D)

72)A CPU contains:

(A)A card reader
and a printing
device

(B)An analytical
engine and a control
unit

(C)A control unit and
an arithmetic logic unit

(D)A arithmetic logic
unit and a card reader

Correct Answer : (C)

73)Which device is required for Internet connection?

(A)Joystick (B)Modem (C)CD Drive (D)NIC card

Correct Answer : (B)

74)
Which of the following identifies a cell in Excel?

(A)Formula (B)Address (C)Label (D)Name

Correct Answer : (B)

75)A new presentaion can be created from:

(A)Blank Presentation (B)From existing
presentation

(C)From Design
template

(D)All of the
above

Correct Answer : (D)

76)In MS-excel what does SUMIF function do?

(A)Adds up cell values based on
a condition

(B)Adds all the numbers in a
range of cells

(C)Returns a subtotal in a list or
database (D)Both A and B

Correct Answer : (A)
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77)What shortcut can be used to switch between open workbooks?

(A)Ctrl + F2 (B)Ctrl + F6 (C)Ctrl + F8 (D)Ctrl + F10

Correct Answer : (B)

78)Which of the following are actions that can be assigned to a slide object?

(A)Run a macro (B)Play a sound (C)Hyperlink (D)All of the Above

Correct Answer : (D)

79)In MS Excel when you copy a formula:

(A)MS Excel erases
the original copy of
the formula

(B)MS Excel edits cell
references in the newly
copied formula

(C)MS Excel adjusts
absolute cell
references

(D)All of the
above

Correct Answer : (B)

80)The word wrap feature:

(A)Automatically moves
text to the next line when
necessary

(B)Appears at the
bottom of the
document

(C)Allows you to
type over text

(D)Is the short
horizontal line
indicating the end of
document

Correct Answer : (A)

81)How to open a presentation in Power Point?

(A)Ctrl + K (B)Ctrl + O (C)Ctrl + M (D)None of these

Correct Answer : (B)

82)What is a light pen?

(A)Mechanical Output
Device

(B)Optical Input
Device

(C)Electronic Input
Device

(D)Optical Output
Device

Correct Answer : (B)
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83)Formatting a cell in currency, which of the following can be specified?

(A)Decimal Places (B)Currency Symbol (C)Both A and B (D)None of the above

Correct Answer : (C)

84)In Analog computer:

(A)Input is first
converted to digital
form

(B)Input is never
converted to digital
form 

(C)Output is displayed
in digital form

(D)All of the
Above

Correct Answer : (B)

85)To hold row and column title in place so that they do not scroll when you scroll a worksheet:

(A)Unfreeze panes
command on Windows
menu

(B)Freeze panes
command on
Windows menu

(C)Hold titles
command on edit
menu

(D)Split command
on Windows menu

Correct Answer : (B)

86)When all the numbers between 0 and 100 in a range should be displayed in red color:

(A)Use =if() function
to format the
required numbers
red

(B)Conditional formatting
command on Format
menu

(C)Select the cells that
contain number between 0
and 100 the click red color
on text color tool

(D)All of the
above

Correct Answer : (B)

87)In MS Excel suppose you have columns of data that span more than one printed page, how
can column headings be printed on each page?

(A)Click Page Setup on the
File menu, click the Sheet
tab and enter the row that
contains these column
headings under Print Titles

(B)Click Page Setup on
the File menu, click the
page tab, click the
Options button then
enter your choices

(C)Click Page Setup on
the File menu, click the
Sheet tab and make a
selection under the Print
heading

(D)All of the
above

Correct Answer : (A)

88)Which is not a font style in MS Word?

(A)Bold (B)Superscript (C)Italic (D)Regular

Correct Answer : (B)



Page 14 of 24

89)___ are used to identify a user who returns to a website.

(A)Cookies (B)Plugins (C)Scripts (D)ASPs

Correct Answer : (A)

90)Coded entries which are used to gain access to a computer system are called:

(A)Entry Codes (B)Passwords (C)Security Commands (D)Code Words

Correct Answer : (B)

91)Which of the following is the smallest storage?

(A)Megabyte (B)Gigabyte (C)Terabyte (D)Petabyte

Correct Answer : (A)

92)Long text can be broken down into many lines within a cell. This can be done through:

(A)Wrap Text in
Format >> Cells

(B)Justify in Edit >>
Cells

(C)Conditional Formatting in
Toolbar

(D)All of the
above

Correct Answer : (A)

93)What is the keyboard shortcut for creating a chart from the selected cell range? 

(A)F2 (B)F4 (C)F8 (D)F11

Correct Answer : (D)

94)Which of the following is not the correct method of editing the cell content in MS Excel?

(A)Press the Alt key (B)Press the F2 key (C)Click the Formula bar (D)Double click the cell

Correct Answer : (A)

95)A feature in MS Excel that displays only the data in column(s) according to specified criteria:

(A)Formula (B)Sorting (C)Filtering (D)Pivot

Correct Answer : (C)
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96)Getting data from a cell located in a different sheet is called:

(A)Referencing (B)Accessing (C)Functioning (D)None of the above

Correct Answer : (A)

97)Home key is used for moving the cursor to the beginning of the:

(A)Document (B)Paragraph (C)Screen (D)Line

Correct Answer : (D)

98)The process of removing the unwanted part of an image is called:

(A)Hiding (B)Bordering (C)Cropping (D)Cutting

Correct Answer : (C)

99)The Save As dialog box can be used:

(A)To save file by some
alternative name

(B)To save file in an
alternative format

(C)To save file for
the first time

(D)All of the
above

Correct Answer : (D)

100)What is the best way to create another copy of a slide?

(A)From Insert tab
choose Duplicate
Slide

(B)Click the slide,
press Ctrl+A and
paste in a new slide

(C)Redo everything in the
previous slide on a new
slide

(D)None of the
above

Correct Answer : (A)

101)A DBMS uses a transaction _______ to keep track of all transactions that update the
database.

(A)Log (B)Table (C)Block (D)Statement

Correct Answer : (A)

102)Which of the following is not a type of Database?

(A)Hierarchical (B)Relational (C)Network (D)Transition

Correct Answer : (D)
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103)The most widely used encryption standard is:

(A)Advanced
Encryption Standard
(AES)

(B)Data Encryption
Standard (DES)

(C)Universal
Encryption Standard
(UES)

(D)Optimal
Encryption Standard
(OES)

Correct Answer : (A)

104)In a relational database row and column is called as _____ and _____ respectively.

(A)Tuple; Attribute (B)Attribute; Tuple (C)Tuple; Domain (D)Attribute; Domain

Correct Answer : (A)

105)EDIFACT is a standard:

(A)For representing
business forms in E-
Commerce

(B)For e-mail
transaction in E-
Commerce

(C)For advertising in
E-Commerce

(D)Protocol used in
E-Commerce

Correct Answer : (A)

106)Domain Name Server, translates a Domain name into _______ .

(A)Hex (B)Binary (C)URL (D)IP

Correct Answer : (D)

107)Which one of the following is not a network topology?

(A)Star (B)Ring (C)Bus (D)Peer to Peer

Correct Answer : (D)

108)Arrange the units of memory TB, KB, GB, MB in the order biggest to smallest

(A)TB > MB > GB > KB (B)MB > GB > TB > KB (C)TB > GB > MB > KB (D)GB > MB > KB > TB

Correct Answer : (C)

109)Microsoft Word is an example of:

(A)An operating system (B)A processing device (C)An application software (D)An input device

Correct Answer : (C)
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110)Which code is used to represent numbers, letters, punctuation mark as well as control
characters:

(A)ASCII (B)EBCDIC (C)Both (D)None of these

Correct Answer : (A)

111)In the context of Credit and Debit cards, what does PIN stands for?

(A)Personal
Information Number

(B)Personal
Identification Number

(C)Private
Information
Negotiation

(D)Password
Information Network

Correct Answer : (B)

112)The use of fingerprints, Iris scans, etc. to provide secure access is called:

(A)Eugenics (B)Bionics (C)Biometrics (D)Barometry

Correct Answer : (C)

113)A duplicate copy of a file or program or data that is stored on a different storage media
other than the original is called: 

(A)Concurrency (B)Deadlock (C)Backup (D)Recovery

Correct Answer : (C)

114)First generation computers were based on which technology?

(A)VLSI (B)LSI (C)Transistor (D)Vacuum Tube

Correct Answer : (D)

115)The three major parts of an Entity Relationship diagram are:

(A)Process, data
flow, data store

(B)Attribute,
modularity,
cardinality 

(C)Relationship, data
flow, entity

(D)Relationship,
attribute, entity

Correct Answer : (D)
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116)Which of the following is not a technology?

(A)Internet (B)Blue-ray players (C)Flag (D)Laptop

Correct Answer : (C)

117)Which file format can be added to a Power point show?

(A).wav (B).jpg (C).gif (D)All of the above

Correct Answer : (D)

118)Processed data is an example of:

(A)Data (B)Information (C)Process (D)All of the above

Correct Answer : (B)

119)Which of the following is an attribute of information?

(A)Timeliness (B)Accuracy (C)Relevancy (D)All of the above

Correct Answer : (D)

120)What are the components that make up IT?

(A)Hardware,
Software, Polices

(B)Hardware,
Software, People

(C)Hardware,
Software, Network

(D)Hardware,
Software, Process

Correct Answer : (C)

121)Employee details is an example of:

(A)Information (B)IT (C)Processes (D)Data

Correct Answer : (A)

122)Which function displays row data in a column or column data in a row?

(A)Transpose (B)Hyperlink (C)Index (D)Rows

Correct Answer : (A)
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123)Connections between multiple devices:

(A)Hardware (B)Network (C)Software (D)Application software

Correct Answer : (B)

124)______ can be thought of as the gatekeeper of the network.

(A)Router (B)Firewall (C)Repeater (D)Network

Correct Answer : (B)

125)______ is the driving force that instructs all network components to operate together.

(A)Hardware (B)Network (C)Software (D)None of these

Correct Answer : (C)

126)The two primary categories of network are:

(A)LEN and WAN (B)LAN and WAN (C)LEN and WEN (D)None of these

Correct Answer : (B)

127)Expansion of RDBMS:

(A)Relation Database
Management System

(B)Reliable Database
Management System

(C)Rational
Document
Management
Software

(D)Relational
Database
Management System

Correct Answer : (D)

128)The statements in programming languages of which generation are similar to that of human
language?

(A)Fifth Generation (B)Second Generation (C)Third Generation (D)Fourth Generation

Correct Answer : (D)

129)Which of the following is the default page setup orientation of slide in Power Point? 

(A)Portrait (B)Vertical (C)Landscape (D)None of these

Correct Answer : (C)
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130)The OSI Network model is divided into how many layers?

(A)Five (B)Six (C)Seven (D)Eight

Correct Answer : (C)

131)The length of an IPv4 address is:

(A)32 bits (B)64 bits (C)128 bits (D)256 bits

Correct Answer : (A)

132)Which type pf storage is used in modern digital cameras, mobile phones, laptops, etc.?

(A)Pen drive (B)Flash memory (C)Optical drive (D)Floppy drive

Correct Answer : (B)

133)A resource on the internet is identified using:

(A)Protocol (B)URL (C)E-mail address (D)Website

Correct Answer : (B)

134)Which of the following is not a type of computer?

(A)Micro (B)Mainframe (C)Mini (D)Remote

Correct Answer : (D)

135)
Group of worksheets in Excel is known as _____.

(A)Folder (B)Files (C)Workbook (D)Document

Correct Answer : (C)

136)The UNIX operating system was developed by:

(A)Charles Babbage &
Bjarne Stroustrup

(B)Steve Wozniak &
Sabeer Bhatia

(C)Dennis Ritchie &
Ken Thompson

(D)Niklaus Wirth &
Tim Berneslee

Correct Answer : (C)
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137)EPROM stands for:

(A)Electric
Programmable Read
Only Memory

(B)Erasable
Programmable Read
Only Memory

(C)Evaluable Philautic
Random Optic
Memory

(D)Every Person
Requires One
Mind

Correct Answer : (B)

138)The speed of a network is expressed in:

(A)RAM (B)MHz (C)Kilobytes (D)MBPS

Correct Answer : (D)

139)The 'desktop' of a computer loaded with windows refers to:

(A)The landing screen
after booting

(B)The area around
the monitor

(C)The top of the
mouse pad

(D)Th inside of a
folder

Correct Answer : (A)

140)An attribute of a table matching the primary key of another table is called as:

(A)Foreign key (B)Secondary key (C)Candidate key (D)Composite key

Correct Answer : (A)

141)HTTP refers to:

(A)Hyper Text
Transmission Protocol

(B)Hyper Text
Transfer Protocol

(C)Hyper Text Tie
Protocol

(D)Hyper Text Total
Protocol

Correct Answer : (B)

142)A word in a webpage that when clicked, opens another document is called ____.

(A)Anchor (B)Hyperlink (C)Reference (D)URL

Correct Answer : (B)

143)Which operating system was developed by M/s Apple and used in MAC?

(A)Windows (B)Android (C)iOS (D)UNIX

Correct Answer : (C)
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144)Java was originally invented by:

(A)Oracle (B)Microsoft (C)Novell (D)Sun

Correct Answer : (D)

145)Whose trademark is the operating system UNIX?

(A)Motorola (B)Microsoft (C)BELL Laboratories (D)Ashton Tate

Correct Answer : (C)

146)
Random Access Memory (RAM) is which storage of a device?

(A)Primary (B)Secondary (C)Tertiary (D)External

Correct Answer : (A)

147)What is the full form of CMOS?

(A)Content Metal
Oxide
Semiconductor

(B)Complementary
Metal Oxide
Semiconductor

(C)Complementary
Metal Oxygen
Semiconductor

(D)Complementary
Metal Oscillator
Semiconductor

Correct Answer : (B)

148)MPG is a file extension of which type of files? 

(A)Audio (B)Image (C)Video (D)Flash

Correct Answer : (C)

149)Who is the founder of internet?

(A)Vint Cerf (B)Charles Babbage (C)Tim Berners-Lee (D)None of these

Correct Answer : (C)

150)Who is the father of e-mail?

(A)Tim Berners-Lee (B)Charles Babbage (C)Paul Buchheit (D)Ray Tomlinson

Correct Answer : (D)



Page 23 of 24

151)Which is the first search engine on the internet? 

(A)Google (B)Archie (C)Altavista (D)WAIS

Correct Answer : (B)

152)Which is the first web browser invented in 1990?

(A)Internet Explorer (B)Mosaic (C)Mozilla (D)Nexus

Correct Answer : (D)

153)Which one of the following is the most powerful type of computer?

(A)Super-micro (B)Super Conductor (C)Super Computer (D)Megaframe

Correct Answer : (C)

154)The Programming language C is: 

(A)A third-generation high level
language

(B)A machine
language

(C)An assembly
language

(D)All of the
above

Correct Answer : (A)

155)Linus Torvalds developed which operating system?

(A)Windows (B)Mac OS (C)UNIX (D)Linux

Correct Answer : (D)

156)What is the shortcut key to replace a data with another in sheet?

(A)Ctrl + F (B)Ctrl + Shift + R (C)Ctrl + R (D)Ctrl + H

Correct Answer : (D)

157)Internet's initial development was supported by:

(A)Microsoft (B)ARPANET (C)Bill Rogers (D)Bill Gates

Correct Answer : (B)
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158)COBOL is an acronym for:

(A)Common
Business Organised
Language

(B)Common
Business Oriented
Language

(C)Computer
Business Oriented
Language

(D)Common
Business Operated
Language

Correct Answer : (B)

159)Which of the following programming language is used to create applets?

(A)COBOL (B)C Language (C)Java (D)BASIC

Correct Answer : (C)

160)The first mechanical computer designed by Charles Babbage was called:

(A)Abacus (B)Analytical Engine (C)Calculator (D)Processor

Correct Answer : (B)

sd/-

Date : 08-04-2024 Deputy Registrar / Secretary

Place : TVM Co-Operative Service Examination Board

N.B.COMPLAINTS IF ANY SHOULD BE PREFEREED ON OR BEFORE 15-04-2024 THROUGH THE
CANDIDATE PROFILE


